Assessment details


	Internal Assessment Criteria - Project

	
	
	Total
	35 marks

	G
	Identifying the Problem within a Social Context

	
	· If the problem is not set in a social context or the candidate does not identify an end-user, a mark of zero is awarded.

	Markband
	

	0
	Level 1 is not achieved.

	1
	The candidate outlines the problem in a social context and identifies an end-user.

	2
	The candidate describes the problem in a social context and identifies an end-user.

	3
	The candidate describes the inadequacies of the present situation, describes the problem in a social context, and identifies an end-user.




	H
	Analysis and Feasibility Study

	
	· The candidate is expected to analyse two feasible and distinct IT approaches to the solution of the problem.

	Markband
	

	0
	Level 1 is not achieved.

	1
	The candidate describes two distinct IT approaches that address the problem.

	2
	The candidate describes two distinct IT approaches that address the problem, and compares their advantages and disadvantages.

	3
	The candidate satisfies the descriptor for 2 marks and justifies the chosen approach with reference to its feasibility.

	4
	The candidate satisfies the descriptor for 3 marks and justifies the chosen approach by explaining how it solves the problem.



	I
	Planning the Chosen IT Solution

	
	· The candidate should provide the following information related to the planning of the IT solution. A maximum of 10 marks is available for this criterion. Each of the five areas listed below is marked independently.

	Markband
	

	0–2
	The candidate has provided a detailed schedule of the events involved in the planning, implementation and testing of the product. This includes who does what, and when.

	0–2
	The candidate has provided visual evidence of the design of the product, either as a storyboard or as detailed diagrams.

	0–2
	The candidate has fully described the software required (including title, company, version) and explained how it is used.

	0–2
	The candidate has fully described the hardware required (including model and specifications) and explained how it is used.

	0–2
	The candidate has fully described the collection of the appropriate data required for a comprehensive solution to the problem.


	J
	Testing and Evaluating the Solution

	
	· These two types of testing are called beta testing and end-user testing. The candidate is required to use the cycle: beta test, refine, beta test, refine, end-user test, refine. For each stage of testing, the candidate must make appropriate revisions to the project, justifying the modifications. Evidence of the formal testing must appear in the appendix in the form of a questionnaire and responses from the testers. A mark of zero is awarded if there is no evidence of formal testing.

	Markband
	

	0
	Level 1 is not achieved.

	1
	The candidate describes testing by one beta tester and explains why they are a qualified beta tester, but there is no refinement to the product.

	2
	The candidate describes testing by one beta tester and explains why they are a qualified beta tester, and there is one justified refinement to the product.

	3
	The candidate describes testing by two testers (beta and end-user, or two beta) and explains why they are qualified testers, and there is one justified refinement to the product.

	4
	The candidate describes testing by two testers (beta and end-user, or two beta) and explains why they are qualified testers, and there are two justified refinements to the product.

	5
	The candidate describes testing by two beta testers and an end-user and explains why they are qualified testers, and there are two justified refinements to the product.

	6
	The candidate describes testing by two beta testers and an end-user and explains why they are qualified testers, and there are three justified refinements to the product.



	K
	Assessing the Social Significance of the Product

	Markband
	

	0
	Level 1 is not achieved.

	1
	The candidate describes one social impact (observed or projected) of the project.

	2
	The candidate describes one observed and one projected social impact of the project.

	3
	The candidate explains one observed and one projected social impact of the project.




	L
	The Product

	
	· The product is submitted with the project report and the log book. If no product is submitted or the product is not a solution to the problem identified in criterion H, a mark of zero is awarded for this criterion. Marks will be awarded by reference to the product, together with visual evidence contained within the project report. A maximum of 6 marks is available for this criterion. Each of the three areas listed below is marked independently.

	Markband
	

	0–2
	2 marks are awarded if the product is technically fully functional.

1 mark is awarded if the product is partially functional.

A mark of 0 is awarded if the product is not functional.

	0–2
	The product is appropriately designed.

A mark of 0 is awarded if the problem is not appropriately designed.

	0–2
	The candidate has developed a comprehensive solution for a complex task.

A mark of 0 is awarded for a simple solution.



	M
	The Log Book

	
	· The log book contains regular, dated entries from analysing, planning, testing, implementing and evaluating the process and product. These include references for information, sketches and designs, evaluative comments and other appropriate entries.

	Markband
	

	0
	Level 1 is not achieved.

	1
	The log book contains regular, dated entries recording what the student has done throughout the whole period when the project was developed.

	2–3
	The requirements for 1 mark are met and there is evidence from each of the five stages (analysing, planning, testing, implementing and evaluating the process and product).
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